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1. H15 T 9: #: — Yl

2. H21 F 1 X(XTX)XTy — X(XTX) ' XTy

3. H21 k7 BB — ) (B — 8,)" — E(Bi — B:)(B; — B;)

4. H23 X 1.3: 702 2OHIHIEL W

5. H23H: =0 DRHMRE — B =0 DIRFHME

6. H25 Fd: fo=2— =1

7. H26 L 217H. 4178, 617H: 8, — B, (4 &), 8 — B; (2 &)

8. EH 26 k7 (1.17) — (1.18)

9. H26 F 1-2: B pt(x,m) — stats.t.cdf (x,m)\ [~ fm(t)dt — [*_fin(t)dt
10. H297m 27 5 1597H: plt.plot(x,stats.t.pdf(x,1)) — plt.plot(x,stats.t.pdf (x,98))
11. H31 E11: g, = 2,8+ € ZDDH — yy = 2.0 + € DEDIR

12. ©32F3: = E[{.(3 - 8)} 2. (3 - B)] = P

13. H33F8: \/Rfs/(zvpl) R \/R:;S/(Npl)

14. B35 F 1. BEOH (%)2 N (%)2

15. H36 L9 H=X(XXT)"'X %D - H=X(XXT)"'X" 7>
16. H 37 3: 3. 7=2HD v 275 A 24TH size=N ZHI[R

17. H 39 B 10(b): Eov” = 0?1 — Evwv” = 0?1

18. H 44 F 2-4: y (2 f&FN) — v.

19. H44 F11-12: R7%ZHRT, BEORBMORTHHFT - 70 LlZKRT, TZET
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1. H51: VL — Vi(Bo, B) (2 fEiff). V2L — V2I(Bo, 3) (2 &)
821(5076)

0B B
2. E53 b4 RP xR = RP x {~1,1}

3&%31(5075) 9’L
0B, oB; " 0B;Bk

3. H53 T 3: HEMNMERKIZ — /87 A — X )RR

4. HoARBEDOTu T 7 AORKITIST: table_count(3,ans,pred) — table_count(2,ans,pred),
IEZHIE (38 4 40)/100 = 0.78 — IEZFZHRIX (41 + 45)/100 = 0.86

5. F55 £12: ZAAEL ROHERIZ 1 -3, L, Py = kle) = 1-P(y = klz) - ZhAEL
WHERIE 1 — Y, Ply = klo) = P(y = klz)

6. H55(7R 77 6%DZWE) T 6(EEH): p1 Sy = pl Sy
7. H58 13 02T ha,b,c DIEIZ — (HIFR)

8. I35 v 1 17T41TH: level=1 — level=0 (T XT level=01I725%)
9. H69 Y127 W 1117H: v=np. --- — v= ## Z%4ll ##

10. H59 T 6: 2D RFK — bR/
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1. H 72 L 2: cv.linear — cv_linear
2. H73 E1: TX, Xo, X3 IIKTE) HIBR
3. H75 2fHHDE/LD 6 TH: order=np.random.choice — index=np.random.choice
4. H753EHDELD 31TH: top_seq=list(range(0,135,10)) — top_seq=1list (range(0,150,15))

5. B 76 F 45 Xg € R™P 5 Xg € R X g e RV-"1xp _y X ¢ e RIN-7)x(p+1)

6. H76 T 2: ijij = ijij + Zaﬁjij — Z”T?T% = Zx?xj + Zx?atj
Jj=1 j=1

jes JES Jjes JgSs
7. H 77 I 4: Sherman-Morroson-Woodbury — Sherman-Morrison-Woodbury
8. H77 T 16: f— (XTX) 1 XTys — (XTX)"! — B— (XTX) 1 XxTys+(XTX)!
9. H7TS Dt LD 1117H, H86 3HHD 1217H: Hltest, test] — H[test, :1[:, test]
10. H78f42 TofEr ) HIBk
11. 579 k6: 1.6 #i — 1.7

12. H 80 ¥ H 88 [ 38 Dt/ 8 fTH: np.std(u) — :np.std(u,ddof=1)
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H 81 £5-7 8 XU 38: N{Zm} - N{sz} N{Zy} >N {Zy} ;
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(e H{EHE)

H8l Fur L4 HS) 0l I LDEMADENL: var(X), var(Y) — var (X, ddof=1),
var (Y, ddof=1)

H 83 1m B — $EEIRD
H 85 [l 32: A& (3.7) HIFR

5 I 33: Xg € RV-m)xp 5 Xo e RP¥(PHD | X o € R™¥P 5 Xg € RIV-7)x(p+1)
Xsﬁs ==X
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. H 89 M 39: Lo 3EEDELD 31TH: y=datalindex,0] — y=## ZZfll ##
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H 93 Dt 7: np.log(S_min) — np.log(S_min/n)
H 94 @D T: p-1)/(TSS* — k-1)/(TSS/
H 94 \ Dt 11: set_q — set_max
H 94 \f2Dt 5,6 (2 fEFT): np.log(S) — np.log(S/n)
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(
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10. P98 T 6: [¢ f(z)dr =0 = [gg(x)dr =0 — [, f(z)dz > 0= [4g(x)dz >0
11. HE99 T O: f(zilx1, B), ..., flenlzn, B) = f(zi|z1,B),..., f(an|zN, B)

12. H103 L 1: (=1)7 — (1)

13. F1103 T 4, E 106 P 45(1): Ellog(5—

14. H 104 [ 40 &/ — &K
. N , 1 N , 1
15. H 106 R 44(d): 5 log(2no?e) + i(k +1) — 0 log(27moie) + §(k +1)

16. E 106 R 45(b): E(%) - g2

17. H102 T 11: Al [7 ZHIER
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L H112 K51 D% v 7 a v il 49 DEITH — B 48 DEITH
2. H114 T 7 %23, (5.3) DE2IH — (5.1) D 24
3. H116 L 1: 204G, (5.5) ODBRIIBILAR WV, Z2Z T, — 22T (5.5) IBWVT
4. H116 b5, MIRE52: Y7 2, =1 — & ZZ (=1
5. H 118 1 2: g5 = Biwig + Poxio — i = Brzin + Baxiso
6. EH 118 X 5.6 il x,y — B1, Bo
7. H120 k1,3 F 4: cv.glmnet — LassoCV
8. H122 F2 k¥ b: HiBk
9. H 128 mYIDE v HIfR

H 114 758, H115 £2: n— N.
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ﬁ 132 & 477311312: %$ﬁ§fﬂé ﬂl? o 56K+4 — 80:« ) 8[\’4’3

Bi + Box + Baz? + Pax®, apg <z <oy
Bi + Pox + Bax? + Par® + B5(x — aq)?, o <z <o
fa) Bi + Pox + Baz? + Par® + Bs(x — 1) + Be(z — 2)?, as <z <ag
x =
B1 + Box + Bax? + Bax® + Bs(x — aq)?
+B6(x — )3 + - + Brra(z — ak)?, ag <o < agq
%
Bo + Bix + Box? + B3a®, o<z <oy
Bo + Bz + Boz? + B3a3 + Ba(x — an)3, o <rv <o
fa) Bo + Bix + Box? + Bax® + Ba(z — a1)® + Bs(x — ), ax <z <az
xTr) =

Bo + Bix + Box? + Baxd + Bu(z — ap)?
+B5(z — a2)® + -+ + Bris(z — ak)?, ag <z < agtr

S H 132 E10: 23 — 2

B 135 51 55: da(x) — dy(x) — do(x) — d3(z), @1, %2, T3, T4 — a1, Q2,03, 4

CE138 14 A /_ T @) 2de = A [T (@) 2de

. H 139 ®&#]D+t /L 2: range(2,n-1) — range(2,n)

H 140 Python v 25 24 13 17H, [ 64: [40, 400, 1000] — [1, 30, 80]

. H 141 k5, F7E 65:

H[N == XT(XTX + \G)~1X = H[\ = X(XTX + \G)~1X7

. H 141 L 12, H 158 [ 65 /L 12: H[test,test] — H[test,:][:,test]

Kx(1,31) Ka(z1,92) Ka(z1,y3) Kx(w1,21) Kx(w1,22) Kx(w1,23)
H143 k1 | Ky(v2,y1) Kia(z2,92) Ka(z2,y3) | = | Ka(w2,21) Ki(2,22) Ki(22,73)
Kx(z3,51) Kx(z3,92) Kx(xs,ys) Ky (xz3,21) Ki(xz,22) Ki(xs,x3)

H 143 #i 60: EAIE — IEEfENE

H145 L5 Bz eR 5z €RP

H 145 T 5: (6.6) — (6.7)

H 145 &L 28-37, H 160 2L 28-37: 4 ¥~ ZAEGN

H 146 2 ZHD LV 31TH, H 148 T2 5 2 &HD /L 417H: randn(1) — randn(n)
B 147 {5 62: hy(x), ho(x), hs(x) — hs(z), ha(z), hs(2)

H 147 TDEIL: def poly(x,y,z=x) ZLLT D 3{TICEH#A



def poly(x,y,z=None):

if z is None:

Z=X
k41 k+1
18. E 149 ‘F 8: Zﬁj(l‘ - Oéj,2)3 — Zﬁj(.ﬁ - Oéjfg)i
j=3 j=3

19. B 151 @ 22 OFFH: B0 — 5 2 TEIZ, 5 2 HIZ — BOIOER
20. H 159 [ 66: Narayama-Watson — Nadaraya-Watson

21. H 160 [H8 67: y; — beta(z)T[1,2;] — i — [1, i]beta(x)

BTE
1. B 165 F6: @i1... = @1,...
2. H166 I 5: 51% — 2%
3. HITIKTS F¥ 7> ary F2 1056125105615
4. 174 3%FBDE N 7T17H: friil*(@-frlil) — frlil/n*(n-frlil)
5. H 175 K 7.7: HRDOEXD 217 3HIH 49 — 1
6. H177 F 1L fi(z),.... f(x) = fi(@),..., fs(z)
7. H181 £6. E9: ry =ry — fe(zn) = rv =y — AfB(zN)

8. H 185 mED 1L T 2, H 193 O 91TH2 S 11 THEZHIBRL T, 12 5B D&M
ZLITD X5 IEIET %5, plt.plot(u,v, — plt.plot(nn_seq, out_set[d-1],

9. H 188 ME 71: TAN — HD

ERE
1. H196 F7: pTa; — 2,8
2. B 196 T 6, H 213 [ 75: (8o, 8) € R? x R — (fy, ) € R x R?
3. H198 F2:a=—-1/V2&D wa=1/V2 &b
4. H199 T 9z =29 ERIZBWVWT = 2 =209 €ERPITBWVT
5. H 199 F7: (8- 8%) < fo(B) = (B—B*) = fo(B)
6. H 200 (8.18): YN, cimswi — o8, cyial

7. H2023FHD L, 206 HOEALD 1817H-2117H, : index=(eps<alphal:,0])&(alphal:,0]<C-eps)
D—ITITEHE

8. H 205 T 2: sum(X[,i]*X[,j]1) — np.dot(X[i,:]1,X[],:1)



9. H208 3, [XI85F % F>ay, H210 £3, H28[I8: FYINLA—FL — FITIL
H— I

10. H211 T 1, H212 £2 4: ¢ — ¢
11. E 213 Fﬁﬁ% 75: ﬂ(] + xlﬁ <0— yi(/j[) + V(Zd) <0

12. H 217 78 83,84: K.poly — K_poly, K.linear — K_linear

BIE
1. H225 T 6: Ly /WA — L2 VA
2. H 230 X1 9.6: complete ¥ centroid @ XA
3. H232 k7 ¢ eRYN o e RN ... 0, ERN — ¢y €ERP, ¢y €RP,... $, ERP
4. H 232 T 10-11: ¢; — ¢1 (2 F&FN)
5. H 233 k14: a9 XD - am@ 8 kD
6. H 233 @ pca B DL D 51TH: Sigma=X.TeX — Sigma=X.TeX/n

7. H236 OB f_1, f_2 2fHDELD), H246 96: £_1 25y = T[0, 11 / T[O, 0] * x
f2My =TI[1, 11 / TI[1, 0] * x

8. H236 D5 HIHDENLD 71TH, H 246 [ 96: plt.axis("equal") —
plt.gca() .set_aspect("equal", adjustable="box")

9. H239 T 2: HIBR — HIVZX
10. H 244 [ 91 317H: single_complete — dist_single

11. H247 199 T2 5 2B DL evr=pca... — evr= # ZEfH #



